JL_

Lattice 3 by 2 Name:
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
617 x 36 = 902 x 60 = 936 x 11 = L
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s s s ’ ’ ’ ’ ’ ’
s ’ ’ ’ s s ’ ’ 2.
s s s ’ ’ ’ ’ s s
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4) _ 5) _ 6) _
506 x 97 = 375%x92 = 944 x 94 =
6.
s s s s s s ’ s s
s s s s ’ ’ ’ ’ ’
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10.
7) _ 8) _ 9 _
773 x32= 444 x 54 = 950 x 35 =
11.
’ ’ ’ s s s ’ s s
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.7 7 7 e e e e s 7
’ ’ ’ ’ ’ ’ s ’ ’ 12.
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10) 11) 12)
608 x 49 = 289 x 74 = 530 x 32 =
’ ’ s s s ’ ’ s s
’ s s ’ ’ ’ ’ ’ s
’ ’ ’ ’ s s ’ ’
/s s s ’ ’ ’ s s s
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s s , ’ ’ y s s ,
’ ’ y ’ s , ’ ’
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Answer Key

Name:

Lattice 3 by 2
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